b st U &

UNTU:)

He Aarr

MDA %3

Hid

Bl i 5 e A A — PR TR A AR $%, 38 A Tk B AR R e
W BERAFE IR BN 55 2 TP DI e .
/N RS A B A T AL L 7 B B LA A -

o HEMItT
o HER

o RIEMEEALE
o HRPRA T

o AREIA

o R ERA, WK

Bea i 8 e R S T DA AAE s N, T RE . ZERRIE
73 MR AN AR R

TR PR ST 1 o A 2
o RANFEBEAE RS (FRED
o AFEMRREAE RS RED

Y]

PREERRA I AT T Ly SRR ), PRI .

gas valve

C1

ENHAREE &

KRR R

FARPTA AR S PR T AR AR, L, TR
AL ARE:

o NBR G T

e HNBR (AL TH)

o IR CTHiRE

o FPM Gtk

o EPDM (=g

o Jufbh (ATRIEDRERED

B & o

XTI AAZ ik SR PR A, B S T IR R A, R
N5 YA B R Tl 5 PR B ) A SR A R A kSR A
AR GBI .

LRI E
WML 2 T S B PEAT T B o FEAPTEVS el B R, TR
AR B2, FEAG IS 1 F R

RGRHE
SRR A B b O BT SR St b RN VB AL PR AT
F 2B LA, AR IR M A R AR 6 3 T 5 i U

o4z
HEMMHRE, Fln:
o IEIRSIHLEE
o JEIHL

o RMFIEFH
o RAMRIEFHN
o RRHAR

o HIZIRG

o REEIEBEAL

o RENKLERS
o MEER/ME

. WE
o B
. EEE



e J 2 5 HE A

RS ARG
MDA 330 - 0.75 - G1/2F -CN - W
%51 |
MDA XXX = FRiEE R (XXX = RHLH)
Size (LA NEAL, ESRIGERT T LR
0.075 = 0.075L
0.16 = 0.16L
0.25 = 0.25L
0.32 = 0.32L
0.5 = 0.5L
0.75 = 0.75L
1.0 = 1.0L
1.4 = 1.4L
2.0 = 2.0L
238 = 2.8L
35 = 3.5L
i O EER <8
ks R R~ \l"—>
M: 2 iR ST
U:SE IR A
G: o R4
NS i) B R L
pex; > il
F: AR
M: &ML
FM: I SMERE
PRMRIG D)
FEfED \F
C:H
SN
(53
N:NBR
H:HNBR B FEARHE
LR NBR e E I RNE 2 S YRR
E:EPDM HNBR TG i B
F:FPM
IIR T KB
EPDM T JE ekt
FPM i 1 i
TR AT

W JRRG R, TR AR IR A 1(M 28x1.5)
W2: SRR, WA IRARA 2(M 14x1.5)

Cc2



e

e 52 2 & FE 48

T
AN E IR R e WA 1
¢D+1.0
M28x1.5
~ M14X1.5
<
<
"SNK(hex
| ERLAE | BALAE | A B R | Tk LI PR BRI | Sw
5 £ BAES & (KG) D(mm) A(mm) L/min (mm)
(BAR) iV L) il B S
0.075 1.0 66 72 9/16-18
M14X1.5 38
0.16 1.2 75 80 UNF
0.25 1.8 89 93
0.32 2.1 95 99
100 G1/2 32
8:1 0.5 2.9 101 113.8 3/4-16
M18X1.5 95
0.75 4.2 125 128.5 UNF
MDA 250
1.0 5.4 142 140
1.4 8.0 157 169
330
2.0 10.0 173 193
25 10.6 173 207 11/16
M22X1.5 G3/4 150 41
4:1 2.8 11.2 173 228 -12UN
35 13.8 173 275.2
W O MELr (BRENE RES )
sy G1/4 pyIoMRET G1/2 PIIFMREL
= G3/8 puisMEL G3/4 RiEs
s 9/16-18UNF pR/4MBSL 3/4-16UNF [R/4MBLST
s 7/8-14UNF pR/4HMELY 1 1/16-12UNF pigLy ok
b - M14X1.5 P/GMEL M18X1.5 P/gMEL —H
“ M16X1.5 PR/gMELY M22X1.5 PR/gMELY
HE G1/2 PHBLSIF] M33X1.5 SMBRLY G3/4 PHBLIF] MA5X1.5 SMBRLY
TG 2~ (M) = (G) SEHMRLL (UNF)  SEHIEREL (NPT) O B
RSMELL (G+M, M+M, UNF+M) /ED &

FOI U — B, A R RO A I6E, R A Z KT 5

Cc3




B pE — 252 A0 Al
S & RE Ay
ANENE R
D
28X L. 5
—
|
|
™~
B=
AR
= T = T N ~ ) ‘ X =
- RN LAE | SR LA B B HiE %MX HE B AL Bﬁi W SwW
};T‘l:? Ejj 573/3:6 (L) (KG) D(mm) I%Fi Y)ﬁ% (mm) (mm)
(BAR) KT H(mm) | (OZE) | L/min
0.16 1.2 75 116 38
17
0.32 2.1 95 137
0.5 2.9 101 152
G1/2 36
8:1 0.75 4.2 125 156 95
100
MDA 1.0 54 142 181
210
1.4 8.0 157 210 21
2.0 10.0 173 231
2.5 10.6 173 239 G3/4 150 46
4:1
2.8 11.2 173 267

ca




